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1. (d) (125, 87, 49)
 125 – 87 = 38
 87 – 49 = 38

(236, 198, 160)
 236 – 198 = 38
 198 – 160 = 38
Similarly,

(277, 239, 201)
 277 – 239 = 38
 239 – 201 = 38

2. (d)3 – 17 + 3 + 16 × 8 = 60
After interchanging the sign
and number.

 3 × 16 + 3 + 17 – 8 = 60
 48 + 3 + 17 – 8 = 60
 68 – 8 = 60
 60 = 60 (L.H.S = R.H.S)

3. (b)
4. (a)

5. (d) Z

J

S

D

–2

–2

–2

+5

–3

–3

–3

+2

–4

–4

–4

+3

–5

–5

–5

+1

X

H

Q

I

U

E

N

K

Q

A

J

N

L

V

E

O (odd)

6. (a) A D EB C
– – ++

Son’s wife

Mother Sister
H/w

7. (a) ABHKP/CDHKP/EFHKP/
GHHKP

8. (d)
9. (b)ATQ,

E  I  I  N  R  S  T  U  V  Y

Left

10. (d)

11. (d)
12. (b)18 × 36 – 6 ÷ 2 + 3

After replacing the sign.
= 18 + 36 ÷ 6 – 2 × 3
= 18 + 6 – 2 × 3
= 18 + 6 – 6
= 18

13. (c)

Trip advisor

Schdars

Carpets
Hat
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14. (b) 5,  11,  29,  ,  245,  731,  2189  83

+6 +18 +54 +162 +486 +1458

×3 ×3 ×3 ×3 ×3

15. (a)

16. (b) P Q D
– +

Aunt

Sister Father BrotherB+

17. (c)
3  1  5  2

6  2  10 4
F  B  J  D

×2

5  4  7  6

10 8 14 12
J  H  N  L

×2

Similarly,

2  2  3  1

4   4  6  2
D  D  F  B

×2

18. (d)BELATED
Alphabetical order of letters :
T > L > E = E > D > B > A =
TLEEDBA
STOREY
Alphabetical order of letters:
Y> T > S > R > O > E =
YTSROE
DOUBBLE
Alphabetical order of letters:
U > O > L > E > D > B = B =
UOLEDBB

19. (c)

20. (a) S R Z

21. (d)9 ÷ 3 + 8 × 2 – 15 = 2
After replacing the symbol

 9 ÷ 3 – 8 × 2 + 15 = 2
 3 – 16 + 15 = 2
 18 – 16 = 2
 2 = 2 (L.H.S = R.H.S)

22. (b)

23. (a) 15 15 17 51 55 275

×1 +2 ×3 +4 ×5 

24. (b) 8  :  508

8  – 4 = 508
3

2    :   4

2  – 4 = 43

Similarly

x  : 2193

13  – 4 = 2193
3

25. (d)64 : 18

= 64 10
 8 + 10 = 18

196 : 24

 196 10
 14 + 10 = 24
Similarly,

529 : x

 529 10

 23 + 10
x = 33

 termLanka. B-GENERAL AWARENESS
26. (a) The Chola dynasty (9th–

13th century CE) is
renowned for its Dravidian
temple architecture, with
masterpieces like the
Brihadeeswarar Temple in
Thanjavur, built by
Rajaraja I, showcasing
intricate stone work and

grand gopurams./pksy jktoa'k
(9oha&13oha 'krkCnh bZ-) vius æfoM+
eafnj okLrqdyk ds fy, çfl¼ gS]
ftlesa ratkoqj esa c`gns'oj eafnj tSlh
mRÑ"V Ñfr;k¡ gSa] ftls jktjktk çFke
us cuok;k Fkk] ftlesa tfVy iRFkj
ds dke vkSj HkO; xksiqje gSaA

27. (b) The Regulating Act of 1773
was the first British
parliamentary act to
control the East India
Company’s governance in
India. It established the
post of Governor-General
(Warren Hastings was the
first) and introduced
administrative reforms in
Bengal.
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1773 dk jsX;qysfVax ,DV Hkkjr esa bZLV
bafM;k daiuh ds 'kklu dks fu;af=kr
djus okyk igyk fczfV'k lalnh; vf/
fu;e FkkA blus xouZj&tujy (okWjsu
gsfLVaXl igyk Fkk) dk in LFkkfir
fd;k vkSj caxky esa ç'kklfud lq/kj
is'k fd,A

28. (b) The Lahore Session of the
Indian National Congress in
December 1929, presided
over by Jawaharlal Nehru,
passed the ‘Purna Swaraj’
resolution, demanding
complete independence from
British rule and declaring
January 26, 1930, as

Independence Day./fnlacj
1929 esa tokgjyky usg: dh vè;{krk
esa Hkkjrh; jk"Vªh; dkaxzsl ds ykgkSj
vf/os'ku us ̂ iw.kZ Lojkt* çLrko ikfjr
fd;k] ftlesa fczfV'k 'kklu ls iw.kZ
Lora=krk dh ekax dh xbZ vkSj 26
tuojh] 1930 dks Lora=krk fnol ?kksf"kr
fd;k x;kA

29. (b) The Arthashastra,
attributed to Kautilya
(Chanakya) from the 4th
century BCE, is a
comprehensive treatise on
statecraft, political, and
administration, providing
detailed guidelines on
governance, economy, and
diplomacy during the

Mauryan period./dk S f VY;
(pk.kD;) }kjk pkSFkh 'krkCnh bZlk iwoZ
esa jfpr vFkZ'kkL=k] ekS;Z dky ds nkSjku
'kklu] vFkZO;oLFkk vkSj dwVuhfr ij
foLr`r fn'kk&funZs'k çnku djrs gq,]
jkT; dyk] jktuhfr vkSj ç'kklu ij
,d O;kid xzaFk gSA

30. (a) Kerala is called the “Spice
Garden of India” due to its
significant production of
spices like pepper,
cardamom, and cinnamon,
which have been traded
globally since ancient

times./dsjy dks dkyh fepZ]
byk;ph vkSj nkyphuh tSls elkyksa ds
egRoiw.kZ mRiknu ds dkj.k "Hkkjr dk
elkyk m|ku" dgk tkrk gS] ftudk
çkphu dky ls oSf'od Lrj ij O;kikj
fd;k tkrk jgk gSA

31. (b) The Deccan Plateau, a
large elevated region
south of the Narmada
River, covers parts of
southern India, including
Maharashtra, Karnataka,
Telangana, Andhra

Pradesh./ ueZnk unh ds nf{k.k
esa ,d cM+k Åapk {ks=k nDdu dk
iBkj] egkjk"Vª] dukZVd] rsyaxkuk]
vka/z çns'k lfgr nf{k.k Hkkjr ds
dqN fgLlksa dks doj djrk gSA

32. (c) Gir National Park in
Gujarat is the only
remaining habitat for the
Asiatic Lion (Panthera leo
persica), a critically

endangered species./xqtjkr
esa fxj jk"Vªh; m|ku ,f'k;kbZ 'ksj
(iSaFksjk fy;ks iflZdk) dk ,dek=k
cpk gqvk vkokl gS] tks ,d xaHkhj
:i ls yqIrçk; çtkfr gSA

33. (b) The Godavari, flowing
through Maharashtra,
Telangana, and Andhra
Pradesh, is the longest
river (approximately 1,465
km) entirely within Indian
territory, unlike the
Ganga and Brahmaputra,
which flow through

multiple countries./egkjk"Vª]
rsyaxkuk vkSj vka/z çns'k ls gksdj
cgus okyh xksnkojh] xaxk vkSj czãiq=k
ds foijhr] iwjh rjg ls Hkkjrh;
{ks=k esa lcls yach unh (yxHkx
1]465 fdeh) gS] tks dbZ ns'kksa ls
gksdj cgrh gSaA

34. (a) Article 124 of the Indian
Constitution outlines the
e s t a b l i s h m e n t ,
appointment of judges,
and structure of the
Supreme Court of India,
the apex judicial body./

Hkkjrh; lafo/ku dk vuqPNsn 124
lokZsPp U;kf;d fudk;] Hkkjr ds
lokZsPp U;k;ky; dh LFkkiuk] U;k;k/
h'kksa dh fu;qfDr vkSj lajpuk dh
:ijs•k çLrqr djrk gSA

35. (a) Article 352 empowers the

President of India to

declare a National

Emergency in case of war,

external aggression, or

armed rebellion, affecting

the entire country or part

of it./vuqPNsn 352 Hkkjr ds jk"Vªifr
dks ;q¼] ckgjh vkØe.k ;k l'kL=k
foæksg dh fLFkfr esa jk"Vªh; vkikrdky
?kksf"kr djus dk vf/dkj nsrk gS]
ftlls iwjk ns'k ;k mldk dksbZ fgLlk
çHkkfor gks ldrk gSA

36. (b) Promotion of Cottage

Industries (Article 43) is a

Directive Principle of State

Policy, guiding the state to

promote economic welfare.

Options A, C, and D are

Fundamental Rights under

Articles 14, 19, and 21,

respectively./ dqVhj m|ksxksa dks
c<+kok nsuk (vuqPNsn 43) jkT; uhfr
dk ,d funZs'kd fl¼kar gS] tks jkT;
dks vkfFkZd dY;k.k dks c<+kok nsus ds
fy, ekxZn'kZu djrk gSA fodYi ,]
lh vkSj Mh Øe'k% vuqPNsn 14] 19
vkSj 21 ds rgr ekSfyd vf/dkj gSaA

37. (b) The Governor is the

constitutional head of the

state executive, acting as

the President’s

representative at the state

level, while the Chief

Minister is the head of the

state government./jkT;iky
jkT; dk;Zdkfj.kh dk laoS/kfud çeq•
gksrk gS] tks jkT; Lrj ij jk"Vªifr ds
çfrfuf/ ds :i esa dk;Z djrk gS]
tcfd eq[;ea=kh jkT; ljdkj dk çeq•
gksrk gSA

38. (b) The Fifth Five-Year Plan

(1974–1979) aimed at

“Growth with Social

Justice,” focusing on

poverty alleviation and

economic equity, under the

slogan “Garibi Hatao.”/

i k a po h a  i apo " k h Z ; ; k s tu k
(1974&1979) dk mís'; "lkekftd
U;k; ds lkFk fodkl" Fkk] tks "xjhch
gVkvks" ds ukjs ds rgr xjhch mUewyu
vkSj vkfFkZd lekurk ij dsafær FkhA
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39. (b) The Blue Revolution refers
to the development and
modernization of the
fisheries sector in India,
increasing fish production

and aquaculture./uhyh Økafr dk
rkRi;Z Hkkjr esa eRL; ikyu {ks=k ds
fodkl vkSj vk/qfudhdj.k] eNyh
mRiknu vkSj tyh; Ñf"k esa òf¼ ls gSA

40. (b) The Goods and Services
Tax (GST), implemented on
July 1, 2017, subsumed
several indirect taxes,
including Service Tax, to
create a unified tax

system./1 tqykbZ] 2017 dks ykxw
fd, x, oLrq ,oa lsok dj (th,lVh)
us ,dhÑr dj ç.kkyh cukus ds fy,
lsok dj lfgr dbZ vçR;{k djksa dks
lekfgr dj fn;kA

41. (b) The World Bank, an
international financial
institution providing loans
for development, is
headquartered in

Washington, D.C./fo'o cSad]
fodkl ds fy, ½.k çnku djus okyh
,d varjjk"Vªh; foÙkh; laLFkk gS] ftldk
eq[;ky; okf'kaxVu] Mh-lh- esa gSA

42. (b) Hepatitis is an
inflammation of the liver,
commonly caused by viral
infections (e.g., Hepatitis A,
B, C), affecting liver

function./gsisVkbfVl yhoj dh
lwtu gS] tks vkerkSj ij ok;jy
laØe.k (tSls] gsisVkbfVl ,] ch] lh)
ds dkj.k gksrh gS] tks yhoj ds dk;Z
dks çHkkfor djrh gSA

43. (a) Newton’s First Law, known
as the law of inertia, states
that an object remains at
rest or in uniform motion
unless acted upon by an

external force./U;wVu dk igyk
fu;e] ftls tM+Ro ds fu;e ds :i
esa tkuk tkrk gS] crkrk gS fd dksbZ
oLrq rc rd fLFkj ;k ,dleku xfr
esa jgrh gS tc rd fd ml ij dksbZ
ckgjh cy u yxk;k tk,A

44. (c) Helium is lighter than air,
with a lower density,
allowing balloons filled with
it to float. Other gases like

nitrogen, oxygen, and
carbon dioxide are denser
and unsuitable for this

purpose./ghfy;e gok ls gYdk
gksrk gS] bldk ?kuRo de gksrk gS]
ftlls blls Hkjs xqCckjs rSj ldrs gSaA
ukbVªkstu] vkWDlhtu vkSj dkcZu
MkbvkWDlkbM tSlh vU; xSlsa l?ku
gksrh gSa vkSj bl mís'; ds fy,
vuqi;qDr gksrh gSaA

45. (b) Pure water is neutral, with
equal concentrations of
hydrogen and hydroxide
ions, resulting in a pH of
7. A pH below 7 indicates
acidity, and above 7

indicates alkalinity./'kq¼ ikuh
rVLFk gksrk gS] ftlesa gkbMªkstu vkSj
gkbMªkWDlkbM vk;uksa dh leku lkaærk
gksrh gS] ftlds ifj.kkeLo:i pH

7 gksrk gSA 7 ls de pH vEyh;rk
dks bafxr djrk gS] vkSj 7 ls Åij
{kkjh;rk dks bafxr djrk gSA

46. (b) Brazil hosted the G20
Summit in Rio de Janeiro
on November 18–19, 2024,
focusing on global issues
like economic stability,
climate change, and
sustainable development./

czkthy us 18&19 uoacj] 2024 dks
fj;ks Mh tsusfj;ks esa th&20 f'k•j
lEesyu dh estckuh dh] ftlesa
vkfFkZd fLFkjrk] tyok;q ifjorZu vkSj
lrr fodkl tSls oSf'od eqíksa ij
è;ku dsafær fd;k x;kA

47. (a) Nihon Hidankyo, a Japanese
organization of Hiroshima
and Nagasaki atomic bomb
survivors, received the 2024
Nobel Peace Prize for its
efforts to promote nuclear
disarmament and peace./

fgjksf'kek vkSj ukxklkdh ijek.kq ce ls
cps yksxksa ds ,d tkikuh laxBu fugksu
fgMkaD;ks dks ijek.kq fujL=khdj.k vkSj
'kkafr dks c<+kok nsus ds vius ç;klksa ds
fy, 2024 dk ukscsy 'kkafr iqjLdkj
feykA

48. (a) Launched in 2024, the PM
Suryodaya Yojana aims to
provide up to 300 units of
free electricity to
households through solar
energy, promoting
renewable energy

adoption./2024 esa ykWUp dh xbZ]
ih,e lw;kZsn; ;kstuk dk mís'; lkSj
ÅtkZ ds ekè;e ls ?kjksa dks 300
;wfuV rd eqÝr fctyh çnku djuk
gS] ftlls v{k; ÅtkZ dks viukus
dks c<+kok feysxkA

49. (b) The Gaganyaan mission,
scheduled for 2025, is
India’s first manned space
mission, aiming to send
astronauts into low Earth
orbit and return them

safely./2025 ds fy, fu/kZfjr
xxu;ku fe'ku] Hkkjr dk igyk
ekuo;qDr varfj{k fe'ku gS] ftldk
mís'; varfj{k ;kf=k;ksa dks i`Foh dh
fupyh d{kk esa Hkstuk vkSj mUgsa lqjf{kr
okil ykuk gSA

50. (d) Kozhikode, Kerala, was
designated a UNESCO
Creative City for Literature
in 2024, recognizing its
vibrant literary culture and
contributions to Malayalam

literature./dsjy ds dksf>dksM
dks 2024 esa lkfgR; ds fy, ;wusLdks
jpukRed 'kgj ukfer fd;k x;k]
ftlls bldh thoar lkfgfR;d laLÑfr
vkSj ey;kye lkfgR; esa ;ksxnku dks
ekU;rk feyhA

gSAgS C - QUANTITATIVE APTITUDE

51. (d) Cos x + Sec x = 
34

15
Suppose Cos x = A

 A + 
1

A
 = 

34

15
 15A2 – 34A + 15 = 0
 15A2 – 25 A – 9A + 15 = 0
 5A (3A – 5) – 3 (3A – 5) = 0
 (3A – 5) (5A – 3)

 A = 
5

3
, 

3

5

Cos x can't be 
5

3

 Cos x = 
3

5
, Sin x = 

4

5
and

Cosec x = 
5

4

 (Sin x + cosec x) = 
4

5
 + 

5

4
 =

41

20
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52. (a) 5 + 8 + 8 = 21 divisible by 3
Last 2 digit of the number
is divisible by 4
But, sum of the digits of the
number is not divisible by
9.

53. (d)  sin [90º – (36º – A)] sin
[90º – (36º + A)] + cos (54º –
A) cos (54º + A)
 sin (54º + A) sin (54º – A)
+ cos (54º – A) cos (54º + A)
Using the identity cos (A –
B)
cos (54º + A – 54º + A) = cos
2A

54. (c) D = 
1 2

1 2

s ×s

s +s × t

D = 
10 × 8 9

×
10 + 8 2

 
  

D = 20km.

55. (a) (p3 + q3 + r3 – 3pqr) = 
1

2
 × (p

+ q + r) [(p – q)2 + (q – r)2 + (r
– p)2]

Now, 

3 3 3p  + q  + r  – 3pqr

p + q + r

= 
1

2
 × [(–6)2 + (5)2 + (1)2]

= 
1

2
 × 62 = 31

56. (a) ATQ,

M : W
4 : 1

6

4
= (1.5 lit)6 lit

M : W
5 : 1

5 × 1.5 = 7.5 lit 1.5 lit

Milk is added by farmer
& the ratio becomes.

Milk is added by farmer =
7.5 – 6 = 1.5lit

57. (c) Window laptop sold by A
and B is = 770 + 648 = 1418

58. (b) Volume of cylinder = r2h
= 3 × 18 × 18 × 24 = 23328
Amount of water overflowed
= (23328 – 20768) =
2560cm3

Volume of 1 spherical ball

= 
2560

10
 = 256

Radius of the spherical ball

= 
4

3
 × 3 × r3 = 256

 r3 = 64

 r = 4cm.

59. (a)
X

Y

O 30º

8 3

P

8 3

ATQ,

XPO = YPO = 60º

XOP = 30º

In OXP

 tan 30º = 
XP

OX

 
3

1
 = 

3

XP

8

 XP = 8cm

sin OPX = 
OX

OP

sin 60º = 
38

OP

3

2
 = 

38

OP

OP = 16cm
ATQ,

= 2 2 2PX +PY +PO

= 2 2 28 +8 +16  = 8 6

60. (b) A

B D C

X

Y Z

21.6

ATQ,

2

2

AD

XT
 = 

arc ABC

arc XYZ





2

2

AD

XT
 = 

256

324

AD

21.6
 = 

16

18
,

AD = 19.2

61. (c)

B CX

A

PP

Z Y

(24 – P)16 – P

(24 – P)16 – P

BC = BX + XC
BC = 16 – P + 24 – P

 –2P = –20

 P = 10cm

62. (c) ATQ,

 
2πr

360
 × 22.5 = 346.5

 
22

7
 × r × r × 

6

1 
   =

346.5

 r × r = 56 × 31.5

 r2 = 1764

 r = 42

63. (b) sin ( + ) = 6 sin ( – )

 sin cos + cos sin =

6 sin cos – 6 cos sin
 7 cos sin = 5 sin cos

 
cos

sin 




 = 

7

5
× cos

sin 





 tan = 
7

5
× tan

 tan

tan 




 = 

7

5

64. (b) ATQ,

 5x = 10800 – 75x

 80x = 10800

 x = 135

65. (b) 3m

3m

3m3m 120m

126m

Area of pavement = (126 ×
126) – (120 × 120)

= 1476
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Cost of Pavement = 1476 ×
50 = Rs. 73800

66. (b)
98

56
 × 

560

35

 
    

49

7

= 
98

56
 × 

560

35

 
    × 

7

49

 98 × 2 = 196
67.(a) Total income is x

Remaining income =

100

15
1–
 
    × x = 0.85x

Expenditure on education =

5

2
 × 0.85x = 0.34x

Expenditure on health = 
5

1

× 0.85x = 0.17x
ATQ,
3 × (0.34x) – x = 300

x = 
0.02

300
 = 15000

The difference between
saving and expenditure on
health = 0.17x – 0.15x
= 0.02x
= 0.02 × 15000
= 300

68.(b) ATQ,
M

1
×T

1
 = M

2
 × T

2

4 × 135 = 5 × T
2

T
2
 = 

5

4 × 135

= 108 min

= 1 hours 48 minutes.

69.(c)

15.3%

12% 18%

3.3%2.7%
9 : 11

So, amount invested at 18%

per annum = 
20

11
 × 10000

= Rs. 5500

70. (c) For unique solution 
1

2

a

a 
1

2

b

b

 
3k

6
 

4

4k

 k2 = 4

 k = 2

71. (c) ATQ,

80 = 
70m + 91n

m + n
80 (m + n) = 70m + 91n
80m + 80n = 70m + 91n
10m = 11n

m

n
 = 

11

10
, m : n = 11 : 10

72. (a) Average

= 
92 + 87 + 99 + 86 + 88 + 49

6

= 
531

6
 = 88.5%

73.  (c) Use successive method

20% – 20% – 
20

20
100

 
  



= –4% (Minus present the
loss)

74. (a) Average = 
 25 + 20 + 15

3
= 20%

75. (a)

D-ENGLISH COMPREHENSION
76. (a) Laugh quietly without

opening one’s mouth (pqipki
g¡luk @ ean eqLdjkgV ds lkFk g¡luk)

77. (c) Salvage (cpkuk) means to
save or recover something,
especially from damage or
loss, w h i l e

Forfeit (•ks nsuk @ R;kx nsuk)
means to lose or give up
something, often as a result
of a penalty or failure.

Glean (,d=k djuk) means
to collect gradually.

Rescue (cpkuk) also means
to save from danger

Extricate (NqM+kuk) means to
free from a difficult
situation.

78. (a) Drab (ean @ iQhdk) means
dull, lacking brightness or
interest, here it refers to
boring and dull painting.

79. (b) The correct spelling is

Exuberant (mRlkg h @
çiQqfYyr) which means full
of energy, exc itement, and
cheerfulness.
Other correct spellings are:

Imminent (vklUu)– About

to happen very soon.

Dinner (jkr dk •kuk)– The

main meal of the day,
usually eaten in the
evening.

Colloquial (cksypky dh Hkk"kk
esa) – Used in ordinary or

familiar conversation, not
formal or literary.

80. (d) The correct pair is: “so...
that” to express cause and
effect.

81. (a) Anomalies (fopyu @
vlkek U;r k)  means

irregularities or deviations
from the expected, similar
to Inconsistencies

(vl ax fr;k ¡ ) , which are

things that do not match or
align properly.

Transmissions (laçs"k.k)
means the act of sending
signals or data.

Confirmations (iqf"V;k¡)
means validations or
approvals.

Specifications (fo'ks"krk,¡)
means detailed
descriptions or
requirements.

82. (b) Correct order is DACB.
D introduces the speaker: Dr.

APJ Abdul Kalam, former
President of India.

A attributes the quote to him:
He is credited with saying.

C presents the first part of
the quote: A metaphor
about leaving a footprint on
the sands of time.

B concludes the quote:
Emphasizing action – do
not dry your feet.

83. (a) “has not” is incomplete. it
needs a past participle to
follow (like been, gone,
done, etc.).
“has not been trusted” =
Present perfect passive
(refers to past actions with
current relevance).  “can
never be trusted” = Future
or general statement about
ability/trustworthiness.
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84. (a) Active Voice Structure:
Someone (Subject) + has
stolen (Present perfect verb)
+ my cell phone (Object).
Passive Voice Structure:
My cell phone (Object
becomes Subject) + has
been stolen (Passive form of
present perfect) + (Agent
omitted or unknown).

85. (d) Structure of second
conditional: If + past
simple/past continuous,
would + base verb
It should be “………we
would have”

86. (d) Loose cannon (vfu;af=kr vkSj
leL;k,¡ iSnk djus okyk O;fDr)
means a person who is
unpredictable and likely to
cause trouble or damage
because of impulsive or
uncontrolled behavior.

87. (a) “Effective” is an adjective.
Here, we need an adverb
“effectively”. to describe
how the solution was
applied.

88. (d) Water under the

bridge(chrh ckrksa dks Hkwy tkuk)
means something that
happened in the past and
is no longer considered
important.

89. (a) The correct spelling is

Incongruent (vl axr)
which means not in
harmony or keeping with
the surroundings or other
aspects; lacking
consistency or
compatibility.
Other correct spellings are:

Hypocrisy (ik•aM) – The

practice of claiming to have
moral standards or beliefs
to which one’s own
behavior does not conform.

Vehement (çcy @ rhoz) –

Showing strong feeling;
forceful, passionate, or
intense.

Opposition (foj k s /)  –

Resistance or dissent,
expressed in action or
argument.

90. (a) Goof off (vkylhiu esa le;
fcrkuk @ eLrh djuk) means
to spend time doing
nothing productive, to relax
or waste time — which fits
perfectly with staying home
without plans.
Slip up – means to make a
mistake.
Pitch in – means to help
with work or contribute.
Iron out – means to resolve
problems or differences.

91. (d) Lackadaisical (l q Lr @
mnklhu) means careless,

lazy, or lacking
enthusiasm, which is the

opposite of Fastidious (cgqr
è;ku nsus okyk) – someone
who is overly attentive to
detail or excessively
concerned with cleanliness
or precision.

Impeccable (csnkx)  means

perfect or without fault.
92. (d) Correct order is CDAB.

C introduces the main idea:
Many successful people
believe something
important about failure.

D states their belief: There is
no real failure in anyone’s
life.

A explains their perspective:
Setbacks are seen as bitter
learning experiences.

 B concludes with the impact:
These experiences help
guide them toward a better
path.

93. (b) Protagonist (eq[; ik=k)
means the main character
in a story,

Antagonist (fojks/h ik=k) –

the character who opposes
the protagonist.

94. (c) Expiate (iki dk çk;f'pr
djuk)  means to atone for

one’s sins or make amends
for wrongdoing.

Deprecate (fuank djuk)– to

express disapproval.

Expatriate (ns'k fudkyk nsuk
@ fuokZflr djuk) – a person

living outside their native
country.

Effeminate (L=k S . k)  –

having qualities
traditionally associated
with women, used for men.

95. (b) Active Voice Structure:
The boys (Subject) + have
decorated (Present perfect
tense verb) + the function
hall (Object) + attractively
(Adverb).
Passive Voice Structure:
The function hall (Object
becomes subject) + has
been decorated (Passive
form of present perfect) +
attractively (Adverb) + by
the boys (Agent introduced
by “by”).

96. (a)
97. (a)
98. (c)
99. (a)
100.(a)

ANSWER KEY

1. (d)

2. (d)

3. (b)

4. (a)

5. (d)

6. (a)

7. (a)

8. (d)

9. (b)

10. (d)

11. (d)

12. (b)

13. (c)

14. (a)

15. (a)

16. (a)

17. (c)

18. (d)

19. (c)

20. (a)

21. (d)

22. (b)

23. (a)

24. (b)

25. (d)

26. (a)

27. (b)

28. (b)

29. (b)

30. (a)

31. (b)

32. (c)

33. (b)

34. (a)

35. (a)

36. (b)

37. (b)

38. (b)

39. (b)

40. (b)

41. (b)

42. (b)

43. (a)

44. (c)

45. (b)

46. (b)

47. (a)

48. (a)

49. (b)

50. (d)

51. (d)

52. (a)

53. (d)

54. (c)

55. (a)

56. (a)

57. (b)

58. (a)

59. (b)

60. (c)

61. (c)

62. (b)

63. (b)

64. (b)

65. (b)

66. (a)

67. (b)

68. (c)

69. (c)

70. (c)

71. (c)

72. (a)

73. (a)

74. (a)

75. (c)

76. (a)

77. (c)

78. (a)

79. (b)

80. (d)

81. (a)

82. (b)

83. (a)

84. (a)

85. (d)

86. (d)

87. (a)

88. (d)

89. (a)

90. (a)

91. (d)

92. (d)

93. (b)

94. (c)

95. (b)

96. (a)

97. (a)

98. (c)

99. (a)

100.(a)


